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' Problem Solving (25 marks)

1. Define the term strong Bronsted-Lowry acid. (2 marks)

2. a) A concentrated ammonia solution is 15 M. Calculate the pH for this solution,.
(5 marks)

e




3 Lactic acid, HC,H. O, is i compound that accumulates in muscle tissue during
exertion. Write the equation and the K expression for the lonization of lactic acid
in water. ; ‘ (2 marks)
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% 4. A solutlon of 0.0100 M factic acid, HC3H503, has a pH of 2 95 ;
‘ _ Calculate the K, value. - -
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b) Wnte an equatxon representxng the reaction between this oxide and water.

=

a) Write the net ionic equation for the predommant rcact' n between
NaH€O3 and NaHC,O,. -

(2 marks)
v,
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b Explam why the reacténts are favoured in the abd&e reactxon
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A 2.0 L solution contams one mole of the weak acid, H PO4, in equ:hbnum wnth
one mole of the salt, NaH PO4

a) Write an equation that represents this equllxbnum -
\-l QC)% + A, 0 = % -
. - .

. b) Explaln why the pH of this solution does not change sxgmfxcantly when 10.0 mL

. Npg

(1 mark)

(1 mark)
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- Wﬁé(l mark)

of lOM KOH 18 added _ . . (I mark)




to form a buffer.

(1 mark)

L | 8. a) Identify a compound that could be added to 1L.OM HNO,
% e, Yoo ’%&3@ o
Y

b) What happens to the aadxty of the HNO, solution as this compound is added?
: wﬁ ~ ~ (1 mark)

 c) Write the net ionic equatlon for thc buffer equxhbnum
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